


SA WG2 Meeting #143e	S2-2101059
Feb 24th – March 9th, 2021; Elbonia             				(revision of S2-210xxxx)


Title:	(DRAFT) LS on RACS capability detection with S1 and NG handover
Response to:	
Release:	Rel-16
Work Item:	RACS

Source:	Vodafone [SA 2]
To:	RAN 3
Cc:	

Contact Person:	
Name:	Chris Pudney
Tel. Number:	
E-mail Address:	chris dot pudney at vodafone dot com

Send any reply LS to:	3GPP Liaisons Coordinator, mailto:3GPPLiaison@etsi.org 	

Attachments:	none.


1. Overall Description:
SA 2 has been discussing RACS CRs in S2-2100063/64 that state that they are aligning the stage 2 specifications (TS 23.501/TS 23.401) with the RAN 3 mechanism for the detection of unsupported features (e.g. by detecting protocol level errors).

While SA2 can understand how the use of an Optional “UE Capability ID” with Criticality=Reject can enable a source eNB/gNB to learn about a neighbouring eNB/gNB’s ability to support RACS during X2/Xn handover, SA2 do not yet understand how such a learning process works for S1 and NG handovers, for example consider the following sequence of events:

a) At the first handover from any RACS-supporting-cell (e.g. X) to a RACS-non-supporting-cell (e.g. Y), the MME/AMF will learn that Y does not support RACS.

b) At later handovers from other RACS supporting cells (e.g. A, B or C) to cell Y, the source eNB/gNB can omit the ‘legacy’ UE RAC. The MME/AMF will omit the UE Capability ID, and at least a target eNB containing cell Y is likely to assume that this is a handover from GERAN.

c) The handover to the legacy eNB-Y then proceeds successfully.

d) eNB-Y then retrieves the LTE UE capabilities (but perhaps not both the EN-DC and NR-StandAlone UE capabilities) from the UE; this subset of UE capabilities is sent to the MME; the MME gets a new RACS UE Capability ID calculated and allocates it to the UE.
 
e) Later the UE moves to another cell which retrieves the EN-DC and/or NR-StandAlone UE capabilities, leading to the generation of another RACS UE Capability ID.   

An alternative is that at step b), a gNB might reject the Handover Request from the AMF. However, it is not clear to SA2 how the source RAN node could identify that the reason for the handover failure was a lack of RACS support at the target RAN node.

2. Actions:
To RAN 3 group.
[bookmark: _GoBack]ACTION: 	In order to align SA 2 and RAN 3 specifications, can RAN 3 please explain how at S1/NG handover, the source RAN node can detect that the target RAN node does not support RACS?  

3. Dates of Next SA 2 Meetings:
Please see the 3GPP calendar 
https://portal.3gpp.org/Home.aspx?tbid=385&SubTB=385#/






